CHAPTER 10

EXERCISE 10-1 (15-20 minutes)

	
Item
	
	
Land
	
	Land Improvements
	
	
Building
	
	
Other Accounts

	(a)
	
	
	
	
	
	
	
	($275,000) Notes Payable

	(b)
	
	
	
	
	
	$275,000
	
	

	(c)
	
	$    8,000
	
	
	
	
	
	

	(d)
	
	      7,000
	
	
	
	
	
	

	(e)
	
	
	
	
	
	      6,000
	
	

	(f)
	
	
	
	
	
	(1,000)
	
	

	(g)
	
	
	
	
	
	    22,000
	
	

	(h)
	
	  250,000
	
	
	
	
	
	

	(i)
	
	      9,000
	
	
	
	
	
	

	(j)
	
	
	
	$  4,000
	
	
	
	

	(k)
	
	    11,000
	
	
	
	
	
	

	(l)
	
	      (5,000)
	
	
	
	
	
	

	(m)
	
	
	
	
	
	    13,000
	
	

	(n)
	
	
	
	19,000
	
	
	
	

	(o)
	
	    14,000
	
	
	
	
	
	

	(p)
	
	
	
	
	
	      3,000
	
	

	
	
	
	
	
	
	
	
	


EXERCISE 10-3 (10-15 minutes)

	1.
	Truck #1

	13,900.00
	

	
	
Cash

	
	13,900.00

	
	
	
	

	2.
	Truck #2

	14,727.26*
	

	
	Discount on Notes Payable

	1,272.74
	

	
	
Cash

	
	2,000.00

	
	
Notes Payable

	
	14,000.00

	
	 
   *PV of $14,000 @ 10% for 1 year =
	
	

	
	
   $14,000 X .90909 = $12,727.26
	
	

	
	
   $12,727.26 + $2,000.00 = $14,727.26
	
	

	
	
	
	

	3.
	Truck #3

	15,200.00
	

	
	Cost of Goods Sold

	12,000.00
	

	
	
Inventory

	
	12,000.00

	
	
Sales

	
	15,200.00

	
	
	
	

	
	[Note to instructor: The selling (retail) price of the computer system appears to be a better gauge of the fair value of the consideration given than is the list price of the truck as a gauge of the fair value of the consideration received (truck). Vehicles are very often sold at a price below the list price.]

	
	
	
	

	4.
	Truck #4

	13,000.00
	

	
	
Common Stock

	
	10,000.00

	
	
Paid-in Capital in Excess of Par

	
	3,000.00

	
	
   (1,000 shares X $13 = $13,000)
	
	


EXERCISE 10-9 (20-25 minutes)

	(a)
	Computation of Weighted-Average Accumulated Expenditures

	
	Expenditures
	
	
	
	

	
	
Date
	
	
Amount
	
X
	Capitalization Period
	
=
	Weighted-Average Accumulated Expenditures

	
	July 31
	
	  $200,000
	
	3/12
	
	$50,000

	
	November 1
	
	    100,000
	
	0
	
	           0

	
	
	
	
	
	
	
	$50,000

	
	
	
	
	
	
	
	

	
	Interest revenue
	$100,000 X 10% X 3/12 = $2,500

	
	
	
	
	
	
	
	

	
	Avoidable interest
	
	
	
	


	
	Weighted-Average
	
	
	
	

	
	Accumulated Expenditures
	X
	Interest Rate
	=
	Avoidable Interest

	
	$50,000
	
	12%
	
	$6,000

	
	
	
	
	
	

	
	Total interest cost
	
	
	
	

	
	
$300,000 X 12% X 5/12 =
	
	$15,000
	
	

	
	
$30,000 X 8%                 =
	
	    2,400
	
	

	
	
	
	$17,400
	
	

	
	
	
	
	
	

	
	Interest capitalized
	
	$  6,000
	
	


EXERCISE 10-17 (10-15 minutes)

	Busytown Corporation
	
	

	Machine ($340 + $85)

	425
	

	Accumulated Depreciation

	140
	

	Loss on Disposal of Machine

	65
	

	
Machine (old)

	
	290

	
Cash

	
	340


	
	Computation of loss:
	

	
	   Book value of old machine ($290 – $140)
	150

	
	   Fair value of old machine
	   (85)

	
	      Loss on exchange
	$  65


	Dick Tracy Business Machine Company
	
	

	Cash


	340
	

	Inventory (old)

	85
	

	Cost of Goods Sold

	270
	

	
Sales

	
	425

	
Inventory (new)

	
	270


EXERCISE 10-18 (20-25 minutes)

	(a)
	Assets Are Considered Similar in Nature:
	
	

	
	Depreciation Expense

	700
	

	
	
Accumulated Depreciation—Melter

	
	700

	
	
($11,200 – $700 = $10,500;
	
	

	
	
$10,500 ( 5 = $2,100;
	
	

	
	
$2,100 X 4/12 = $700)
	
	

	
	
	
	

	
	Melter (New)

	15,200**
	

	
	Accumulated Depreciation—Melter

	7,000
	

	
	
Gain on Disposal of Plant Assets

	
	1,000*

	
	
Melter (Old)

	
	11,200

	
	
Cash

	
	10,000


	  *Cost of old asset
	$11,200
	

	   Accum. depr.
	   (7,000)
	($6,300 + $700)

	   Book value
	4,200
	

	   Fair market value 
     of old asset
	
   (5,200)
	

	   Gain (on disposal 
     of plant asset)
	
$  1,000
	

	
	
	

	**Cash paid
	$10,000
	

	   FMV of old melter
	   (5,200)
	

	  Cost of new melter
	$15,200
	


Gain is not deferred because boot is more than 25% of the transaction which makes the entire transaction monetary in nature.

	(b)
	Assets Are Considered Dissimilar in Nature:
	
	

	
	Depreciation Expense

	700
	

	
	
Accumulated Depreciation—Melter

	
	700

	
	
	
	

	
	Melter (New)

	15,200**
	

	
	Accumulated Depreciation—Melter

	7,000
	

	
	
Gain on Disposal of Plant Assets

	
	1,000

	
	
Melter (Old)

	
	11,200

	
	
Cash

	
	10,000

	**Cash paid
	$10,000
	

	   FMV of old asset
	   (5,200)
	

	  Cost of new asset
	$15,200
	


Note that the entries are the same for both (1) and (2).

EXERCISE 10-24 (20-25 minutes)

	(a)
	Depreciation Expense (8/12 X $60,000)

	40,000
	

	
	
Accumulated Depreciation—Machine

	
	40,000

	
	
	
	

	
	Loss on Disposal of Machine

	470,000
	

	
	   ($1,300,000 – $400,000) – $430,000
	
	

	
	Cash


	430,000
	

	
	Accumulated Depreciation—Machine

	400,000
	

	
	   ($360,000 + $30,000)
	
	

	
	
Machine

	
	1,300,000

	
	
	
	

	(b)
	Depreciation Expense (3/12 X $60,000)

	15,000
	

	
	
Accumulated Depreciation—Machine

	
	15,000

	
	
	
	

	
	Cash


	1,040,000
	

	
	Accumulated Depreciation—Machine

	375,000
	

	
	   ($360,000 + $15,000)
	
	

	
	
Machine

	
	1,300,000

	
	
Gain on Sale of Machine

	
	115,000*

	
	
*$1,040,000 – ($1,300,000 – $375,000)
	
	

	
	
	
	

	(c)
	Depreciation Expense (7/12 X $60,000)

	35,000
	

	
	
Accumulated Depreciation—Machine

	
	35,000

	
	
	
	

	
	Contribution Expense

	1,100,000
	

	
	Accumulated Depreciation—Machine

	395,000
	

	
	   ($360,000 + $35,000)
	
	

	
	
Machine

	
	1,300,000

	
	
Gain on Disposal of Machine

	
	195,000*

	
	
   *$1,100,000 – ($1,300,000 – $395,000)
	
	

	
	
	
	


FINANCIAL STATEMENT ANALYSIS CASE
JOHNSON & JOHNSON

(a)
The cost of buildings and building equipment at the end of 1998 was $2,922,000,000.

(a) As indicated in footnote number one to the financial statements, the company utilizes the straight-line method for financial statement purposes for all additions to property, plant, and equipment. Given that straight-line depreciation provides a lower charge for depre-ciation as compared to an accelerated method in the early years of an asset’s life, the accounting appears to be less conservative.

(b) The amount of actual interest expenses in 1998 can be computed as follows:


Interest, net of portion capitalized 

    (per cash flow statement)




$  89,000,000

Capitalized interest (per note 3)




    71,000,000
Actual interest







$160,000,000
(c) Free cash flow is defined as net cash flows provided by operating activities less capital expenditures and dividends.

Free cash flow is the amount of discretionary cash flow a company has for purchasing additional investments, retiring its debt, purchas-ing treasury stock, or simply adding to its liquidity. In Johnson & Johnson’s situation, free cash flow is computed as follows:

Net cash flows from operating activities

     $4,886,000,000

Less: Additions to property, plant, and



 equipment




       1,460,000,000


 Dividends






       1,305,000,000
Free cash flow






     $2,121,000,000
As indicated from the above computation, Johnson & Johnson has considerable free cash flows. The company has excellent financial flexibility.


For example, the company is able to pay its dividends without resort-ing to external financing. Secondly, even if operations decline, it appears that the company will be able to fund additions to property, plant, and equipment. Thirdly, the company is using its free cash flow to expand its operations by acquiring new businesses.
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